= O
M = 0ol &F AF S Z Al A
20108 20ld SSEMLAMLELESIAH &
EAM AN
HE: CARZAY
Chel: SIXIHEA S (SSML AL EEZIH) (9 E2
=] X EH . CLO (5 SALO] . THA 2 Al OH HEE =2}
S AIDHE Bt 7,104,258 74,818,147 A67,713,889
SAIDHEALS 6,488,576 74,147,008 AB7,658,432
EHRIOHE AL (BHIHELAILE S EZH) 6,488,576 74,147,008 AB7,658,432
=S SHA2X A E X O AL 5,968,523 68,250,000 A62,281,477
401 AIEHIZ 20 5,968,523 68,250,000 A62,281,477
01 Al&H| 5,454,960 67,015,000 A61,560,040
OS3Ha2X 7 S XIHE ALY S AtH|
5,424,960,000& * 14 5,424,960
OSSHAEHTINLAIL X 2SS AXSA
30,000,000 * 14! 30,000
02 Zeldl 500,000 1,200,000 A700,000
OS3HARKI 7 SRS AIE ZH I A 22l
500,000, 0002 * 14 500,000
03 A&yl 13,563 35,000 A21,437
SRR S XIHE ALY =&
5,424,960, 000& +0.25% 13,563
ihlbl (=2 SY) 520,053 5,647,008 25,126,955
801 oilbldl 320,053 5,447,008 A5,126,955
01 olldlyl 320,053 5,447,008 Ab5,126,955
OAL 0l &F ol gl bl 131,554,000 * 14 131,554
OX20l 4 oidlbl 188,499,000 * 14 188,499
802 Btat3aJ|Et 200,000 200,000 0
03 Hed32s 200,000 200,000 0
Odily gretzgd 200,000, 0003 * 14 200,000
HY 2L ZHI(SAIIHZ D) 615,682 671,139 Ab5,457
QlARHH(SLESE)(SZMHLAMLSESIAH) 238,833 435,087 A 196,254
IA2HH(BZEY) 238,833 435,087 A 196,254
101 Q12| 183,289 333,406 A150, 117
01 2=+ 183,289 333,406 A 150,117
os3 104,757
>62(3288) 2,613,600& 121 x12& 31,364
>732(2588) 2,223,100& 221« 12& 53,355
>83(1588) 1,669,800& x121 %123 20,038
(OFSF=t =y 104,757 ,000& *50%x*2/12 8,730
OANZte 2R 8,974
>6= 8,312& x101x25A| 2h+ 12 2,494
>7=2 7,457 3 x201x25 A| 2k %12 4,475
>8= 6,6823 121 x25A| 2+ 12 2,005
Out=ogasAzaZesY 958
o= 8,312 x 101 x4 A| 2t %83 266




AT SAHE D
A HAH2AAH(ZAINE D)
Etel: QIHA2AH(SSSE)(SSMLAMSSESA) (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
4= 7,457 x201 x4 A| 2H %83 478
> 8= 6,6823 x1Q1 x4 Al 2H+82] 214
OJ&E=4 3,840
> B < Xt 40,0003 421 %122 1,920
D> OIEHHE 20,0003 821« 12& 1,920
(OPNIERS: IR =, 1,280
>ausstul 320,000& x1¢1+42] 1,280
OllsgdR=¢ 960
>6-72 30,0003 #2021 x12& 720
>8-98 20,0003 «12!x12& 240
OlRsRE+E 8,730,000 »4.8/100+12& 5,029
OZa=gtts 4,440
P25 0l & 130,000& »1e1x12& 1,560
> 15301 &~204 0] 2 80,000& 32! x12& 2,880
oXass+e 30,000 «32!x12& 1,080
O&FA= Al 130,000& 401+ 123 6,240
(@FNE=j-p=Nu] 6,120
>6~7a2 130,000& »30!x12& 4,680
>8~10= 120,000& »11%12& 1,440
O EF It 104,757,000 *60%+*2/12 10,476
OJHAHXI 2 Bl 8,730,000 *16. 7% 12 17,495
OS2 4t 8,730,000 x1/30x10 2,910
204 A2 HH| 10,320 21,060 A~ 10,740
02 Mg =22l 6,480 11,460 4,980
OX=2 Xl 6,480
> 6= 155,000& 11+ 12& 1,860
brs 140,000& 22! x12& 3,360
>8~08 105,000% x 121 %12 1,260
03 SHYR=HESH| 3,840 9,600 A5,760
O3S ANSRE 80,0003 421 x12& 3,840
303 Zaz 15,200 26,600 211,400
01 Z&=3 3,200 5,600 A2,400
Ossd SXIHE 22 800,000& »4¢1 3,200
02 d1t&0i= 12,000 21,000 29,000
OogHdu=s 3,000, 000& =421 12,000
04 A=RE=S 30,024 54,021 A23,997
01 d=RE=2 24,512 44,245 19,733
OHs2E=s 117,927,000 %8. 5% 10,024
Oo=d= 117,927,000 »6. 785% 8,002
OEX+ERE= 117,927,000 %5. 278% 6,225
OMol2a4RE= 117,927,000 *0.221% 261




S ARt
MY 2HZH (ZAIIHZ D)
CIARAH(BLEL ) (SLYMLMEELSIN) (e ®2
DA FHE L OSI(BA) - HBAY - BES Aro B HRE2
02 =RIHLEES 5,512 9,776 A4, 264
OHLEBEREZ 208,519,000& *2.54% 5,297
oEIeYRERED
208,519,000 *2.54%*4.05% 215
I2ZH(SYEE)(SSIMLAMESHSIAH) 376,849 236,052 140,797
Jl2ZH(BEsE) 376,849 236,052 140,797
201 LBt 334,210 113,630 220,580
01 AtSR2t2ldl 270,460 46,880 223,580
OO0l & A 01 24 1,200,000& *43] 4,800
OZ At Q4 1,200,000& 23] 2,400
OslAH&EEN 72 150, 000& 43| 600
ORM2Zg =&t 300,000& =12& 3,600
(OFSFPIPIE=IN 90,000 *8CHx53] 3,600
Os2=&t| 7,000& *421x1032| x12& 3,360
OAS+HAALLEUHBELD
10,000, 0003 =14 10,000
020108 Z2MZAIES 10,000, 000& =13 10,000
O33HaRKI+ SHX2d B2
230,000,000 * 14 230,000
OXHE} MojRs| HALE
70,000& 1021 %33] 2,100
02 =234l 63,750 66,750 A 3,000
OosEsYsH 5,750
>SIREZ 1,750& *3,000AH 5,250
DatteEZ 250& *2,00021 500
O XIMNLX 2L AldE2Es L HII2H2
0,000, 000& * 14 50,000
OSgIHEZNE R E4H|
8,000,000 =14 8,000
202 O4H| 11,440 15,820 4,380
01 =LHOA b 11,440 15,820 A4,380
OSIIHEAMS F=&El 200,000& *401x12& 9,600
OdEngES ol 20,0003 *4021%83] 640
O3J1guWs ¢l 300, 000& *421x13] 1,200
401 AIEHIZ 2 27,299 102,702 AT5,403
03 Al =20HY| 27,299 22,702 4,597
OOl X ¥ dBESK 27,299
DEEEI} == 18,999,000 * 14 18,999
DEYEY 3 220,000& »15& X| 3,300
>2HE 0223 5,000,000 =14 5,000
405 Kot S| 3,900 3,900 0
01 &L 2EFHSHI 3,900 3,900 0
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